

- [41] M. Tomić, *Sur les facteurs de convergence des séries de Fourier des fonctions continues*, Acad. Serbe Sci. Publ. Inst. Math. 8 (1955), p. 23-32.
- [42] П. И. Ульянов, *Применение А-интегрирования к одному классу тригонометрических рядов*, Мат. Сборник 35 (1954), no 3, p. 469-490.
- [43] S. Verblunsky, *On some classes of Fourier series*, Proc. London math. Soc. (2) 33 (1932), p. 287-327.
- [44] W. H. Young, *On the Fourier series of bounded functions*, Proc. London math. Soc. (2) 12 (1913), p. 41-70.
- [45] — *On the mode of oscillation of Fourier series and its allied series*, Proc. London math. Soc. (2) 12 (1913), p. 433-452.
- [46] A. Zygmund, *Sur un théorème de M. Fekete*, Bull. Int. Acad. Polon., cl. A, sci. math. et nat., Cracovie 1927, p. 343-347.
- [47] — *Trigonometrical series*, New York 1952.

Reçu par la Rédaction le 1. 7. 1959

## On some functional equations in Banach spaces

by

S. KUREPA (Zagreb)

Throughout this paper  $R = \{t, s, u, \dots\}$  denotes the set of all real numbers,  $X = \{x, y, z, \dots\}$  a complete Banach space,  $X^*$  the adjoint of  $X$  and  $L(X)$  the set of all linear and continuous mappings of  $X$  into  $X$  endowed with the usual structure of a Banach space.

In § 1 we consider operator-valued mappings  $F$  and  $G$  of  $R$  into  $L(X)$  such that

$$(1) \quad F(t+s) + F(t-s) = 2F(t)G(s)$$

holds for all  $t, s \in R$ . In the case  $F = G$  we have a cosine functional equation for which we have proved [6] that a weak measurability of  $F$  on one interval implies a weak continuity of  $F$  on  $R$  in the case of  $X$  being a separable Hilbert space. Theorem 1 of this paper extends this result to the case of a reflexive and separable Banach space. If  $X$  is a Hilbert space,  $F(t) = N(t)$  is a normal operator and the function  $N(t)$  is weakly continuous, then  $N(t) = \cos tN$  for all  $t \in R$ , where the normal operator  $N$  does not depend on  $t$  [6]. In this paper we generalise this result to the functional equation (1).

In § 2 we consider continuous complex-valued functionals  $f$  and  $g$  defined on  $X$  and such that

$$(2) \quad f(x+y) + f(x-y) = 2f(x)g(y)$$

for all  $x, y \in X$ . We prove that the functionals  $f$  and  $g$  can be expressed as functions of an additive and continuous functional. Some other functional equations which can be reduced to (2) are also treated.

We note that St. Kaczmarz [3] has considered real-valued functions  $f, \varphi$  defined on  $R$  and such that

$$f(x) + f(x+y) = \varphi(y)f(x+y/2).$$

Replacing here  $x$  by  $x+y/2$  and setting  $\varphi(y) = 2g(y/2)$  we find that  $f$  and  $g$  satisfy (2) and conversely. Kaczmarz has proved that the measurability of  $f$  implies the continuity of functions  $f, \varphi$  and he has found all

solutions of that equation. It seems to us that his method (lemma 2, p. 144) cannot be generalised to the general case of functional equation (1).

§ 1. THEOREM 1. Let  $t \rightarrow F(t)$  be a mapping of  $R$  into  $L(X)$  such that:

$$(3) \quad F(t+s) + F(t-s) = 2F(t)F(s), \quad F(0) = E$$

for all  $t, s \in R$ , where  $E$  is the identity operator.

Suppose that: a) There is an interval  $I \subseteq R$  such that the restriction of  $F$  on  $I$  is weakly measurable, and b)  $X$  is a separable and reflexive Banach space.

Then  $F$  is a weakly continuous function on  $R$ .

Proof. In the same way as in [6], theorem 1, we find that  $F(t)$  is weakly measurable on  $R$  and that  $\|F(t)\|$  is a bounded function on every finite interval. Hence a function

$$y^*[F(t)x] \quad (x \in X, y^* \in X^*)$$

is summable in every finite interval. This implies that the equation

$$(4) \quad y_{ab}^*[x] = \int_a^b y^*[F(t)x] dt$$

defines a linear functional  $y_{ab}^*$  for any  $a, b \in R$  and  $y^* \in X^*$ . By  $X_1^*$  we denote the set of all functionals  $y_{ab}^* \in X^*$  which can be written in the form (4). We assert that  $X_1^*$  is dense in  $X^*$ , i. e.  $\overline{X_1^*} = X^*$ . Suppose that this is not true. Then a functional  $z^* \in X^*$  exists such that  $z^* \notin \overline{X_1^*}$  and  $z^* \neq 0$ . But then a functional  $w^{**} \in X^{**}$  can be found ([2], p. 64-65) such that

$$(5) \quad w^{**}[z^*] = 1 \quad \text{and} \quad w^{**}[y^*] = 0$$

for all  $y^* \in \overline{X_1^*}$ . Since  $X$  is a reflexive space ([2], p. 66) one can find an element  $w \in X$  such that

$$w^{**}[y^*] = y^*[w]$$

for every  $y^* \in X^*$ . This and (5) lead to

$$(6) \quad y_{ab}^*[w] = 0$$

for all  $y_{ab}^* \in X_1^*$ . Now (6) and (4) imply

$$(7) \quad \int_a^b y^*[F(t)w] dt = 0$$

for every couple  $a, b \in R$  and for any  $y^* \in X^*$ . From (7) we find

$$(8) \quad y^*[F(t)w] = 0$$

for every  $t \in S(y^*)$  where  $mS(y^*) = 0$  (the Lebesgue measure of  $S(y^*)$ ). Since  $X^*$  is a separable space there is a set  $A = \{y_1^*, y_2^*, \dots, y_n^*, \dots\}$

which is countable and dense on  $X^*$ . We set  $S = \bigcup_{k=1}^{\infty} S(y_k^*)$ . Then  $mS = 0$  and  $y_n^*[F(t)w] = 0$  for every  $t \in S$ .

Since  $A$  is dense on  $X^*$  we find

$$(9) \quad F(t)w = 0$$

for every  $t \in S$ . Obviously  $mS = 0$  implies the existence of a number  $u \in R$  such that  $u \notin S$  and  $2u \in S$ . From (9) we find  $F(2u)w = F(u)w = 0$ , which together with the functional equation (3) leads to

$$w = F(0)w = [F(2u) - 2F^2(u)]w = 0,$$

which contradicts (5). Thus  $X_1^*$  is dense on  $X^*$ . Replacing  $x$  by  $2F(s)x$  in (4) and using (3) we get

$$\begin{aligned} 2y_{ab}^*[F(s)x] &= \int_a^b y^*[2F(s)F(t)x] dt \\ &= \int_a^b y^*[(F(t+s) + F(t-s))x] dt = \int_{a+s}^{b+s} y^*[F(t)x] dt + \int_{a-s}^{b-s} y^*[F(t)x] dt, \end{aligned}$$

from which we see that  $z^*[F(t)x]$  is a continuous function for any  $z^* \in X_1^*$ . Since  $X_1^*$  is dense on  $X^*$  and  $\|F(t)\|$  is locally bounded, we find that  $y^*[F(t)x]$  is continuous for any pair  $x \in X$  and  $y^* \in X^*$ , i. e.  $F(t)$  is a weakly continuous function on  $R$ , q. e. d.

THEOREM 2. Let  $X$  be a Hilbert space (separable or not),  $t \rightarrow N(t)$  a mapping of  $R$  into the set of all bounded normal operators defined on  $X$  and  $t \rightarrow F(t)$  a mapping of  $R$  into  $L(X)$ . Suppose that:

- 1 is not an eigenvalue of  $N(s)$  for all  $s$ ,
- there is at least one  $t_0 \in R$  such that  $F^{-1}(t_0)$  is a bounded and everywhere defined operator,
- $F(t)$  is a weakly continuous function on  $R$ ,
- $F(t)$  and  $N(s)$  satisfy the functional equation

$$(10) \quad F(t+s) + F(t-s) = 2F(t)N(s).$$

Then,

$$F(t) = A \cos tN + B \sin tN \quad \text{and} \quad N(t) = \cos tN$$

for every  $t \in R$ , where  $N$  is a normal operator which does not depend on  $t$  and  $A, B$  are bounded linear operators.

Proof. Setting  $s = 0$  and  $t = t_0$  in (10) we get  $F(t_0) = F(t_0)N(0)$ , which implies  $N(0) = E$ . Further (11) leads to

$$(11) \quad N(s) = \frac{1}{2}F^{-1}(t_0)[F(t_0+s) + F(t_0-s)],$$

from which we immediately deduce

$$(12) \quad N(t+s) + N(t-s) = 2N(t)N(s)$$

for all  $t, s \in R$ . The weak continuity of  $F(t)$  and (11) imply that  $N(t)$  is a weakly continuous function. This,  $N(0) = E$  and theorem 2 of [6] imply the existence of a normal operator  $N$  such that

$$(13) \quad N(t) = \cos tN$$

for every  $t \in R$ . In such a way (10) is reduced to

$$(14) \quad F(t+s) + F(t-s) = 2F(t)\cos sN.$$

If  $F_1(t)$  and  $F_2(t)$  denote the even and the odd part of  $F(t)$  respectively, then (14) leads to

$$(15) \quad F_1(t+s) + F_1(t-s) = 2F_1(t)\cos sN,$$

$$(16) \quad F_2(t+s) + F_2(t-s) = 2F_2(t)\cos sN.$$

For  $t = 0$ , (15) gives  $F_1(s) = A\cos sN$  with  $A = F_1(0) = F(0)$ . If we interchange  $t$  and  $s$  in (16) and add the result obtained to (16), we get

$$(17) \quad F_2(t+s) = F_2(t)\cos sN + F_2(s)\cos tN.$$

Using the identity

$$(18) \quad F_2[t_1 + (t_2 + t_3)] = F_2[(t_1 + t_2) + t_3]$$

and (17) we find

$$F_2(t_1)\sin t_3N\sin t_2N = F_2(t_3)\sin t_1N\sin t_2N.$$

For  $t_1 = t$ ,  $t_2 = t_3 = s/2$  we get

$$F_2(t) \cdot (E - N(s)) = 2F_2(s/2)\sin s/2N\sin tN,$$

from which follows  $F_2(t) = B\sin tN$ . Thus  $F(t) = F_2(t) + F_1(t) = A\cos tN + B\sin tN$  and  $N(t) = \cos tN$ . It is easily seen that these functions satisfy functional equation (10).

**§ 2. THEOREM 3.** Let  $X$  be a Banach space and  $x \rightarrow f(x)$  a complex-valued functional defined on  $X$  and such that

$$(19) \quad f(x+y) + f(x-y) = 2f(x)f(y), \quad f(0) = 1$$

for all  $x, y \in X$ .

If the functional  $f$  is continuous, then an additive and continuous functional  $a(x)$  exists such that

$$(20) \quad f(x) = \cos a(x)$$

for all  $x \in X$ .

**Proof.** We divide the proof in four steps.

I. For a given  $x \in X$ ,  $x \neq 0$  and a real number  $t$  set

$$f_x(t) = f(tx).$$

Then

$$(21) \quad f_x(t+s) + f_x(t-s) = 2f_x(t)f_x(s), \quad f_x(0) = 1$$

for all  $t, s \in R$ . Since a complex-valued function  $f_x(t)$  of a real variable  $t$  is continuous, we have ([7], p. 172, lemma 4)  $f_x(t) = \cos tb(x)$  for every  $t \in R$ , where the complex number  $b(x)$  is determined up to the sign by  $f_x(t)$ . Thus

$$(22) \quad f(tx) = \cos tb(x).$$

The continuity of the functional  $f$  implies the continuity of the functional  $b^2(x)$ . By  $a(x)$  we denote one of two possible continuous functionals such that  $a^2(x) = b^2(x)$ . Then (22) implies

$$(23) \quad f(tx) = \cos ta(x)$$

for all  $x \in X$ ,  $t \in R$ , where  $a(x)$  is a continuous and obviously  $a(tx) = ta(x)$ . It remains to prove that

$$(24) \quad a(x+y) = a(x) + a(y).$$

II. Suppose that  $X$  is a real Hilbert space. Setting (23) in (19) we get

$$(25) \quad \cos ta(x+y) + \cos ta(x-y) = 2\cos a(x)\cos a(y).$$

If we take the second derivative of (25) with respect to  $t$  we find

$$(26) \quad a^2(x+y)\cos ta(x+y) + a^2(x-y)\cos ta(x-y) = 2[a^2(x) + a^2(y)] \cdot \cos ta(x) \cdot \cos ta(y) - 4a(x)a(y)\sin ta(x)\sin ta(y).$$

For  $t = 0$  (26) implies

$$(27) \quad a^2(x+y) + a^2(x-y) = 2a^2(x) + 2a^2(y).$$

Since  $a^2(x)$  is a continuous functional we have ([5], theorem 3)

$$(28) \quad a^2(x) = (Ax, x) + i(Bx, x)$$

where  $A$  and  $B$  are symmetrical and bounded linear operators. Formula (21) implies

$$(29) \quad a^2(x \pm y) = a^2(x) + a^2(y) \pm 2[A(x, y) + i(Bx, y)].$$

Now (29), (28), (26) and (25) lead to

$$(30) \quad [(Ax, y) + i(Bx, y)] \cdot [\cos ta(x+y) - \cos ta(x-y)] = -2a(x)a(y)\sin ta(x)\sin ta(y).$$

If we take the second derivative of (30) and if we set  $t = 0$  we get

$$(31) \quad (Ax, y) + i(Bx, y) = \pm a(x)a(y),$$

from which it follows that  $a(x)$  is a linear functional.

III.  $X$  is a complex  $n$ -dimensional space. Obviously we can "represent"  $X$  by use of a  $2n$ -dimensional unitary (Hilbert) space  $\hat{X} = \{\hat{x}, \dots\}$  in such a way that this representation is one-one, additive and continuous. If  $x$  and  $\hat{x}$  are corresponding elements we set  $\hat{f}(\hat{x}) = f(x)$ . Then  $\hat{f}$  is a continuous functional on  $\hat{X}$  and it satisfies (19). Since  $\hat{X}$  is a unitary space (by use of II) we have  $\hat{f}(t\hat{x}) = \text{cost}\hat{a}(\hat{x})$ , where  $\hat{a}(\hat{x})$  is a continuous and linear functional on  $\hat{X}$ . Thus

$$(32) \quad \text{cost}\hat{a}(\hat{x}) = \text{cost}a(x)$$

for all  $t \in R$ ,  $x \in X$  and  $\hat{x} \in \hat{X}$ . Obviously (32) implies

$$(33) \quad \hat{a}(\hat{x}) = \varepsilon a(x)$$

for all  $x$  and  $\hat{x}$ , where  $\varepsilon$  does not depend on  $x$ ,  $\hat{x}$  and  $\varepsilon = 1$  or  $\varepsilon = -1$ . This and (33) imply that  $a(x)$  is an additive functional on  $X$ .

IV. The general case:  $X$  is a complex Banach space. In order to prove (24) for given  $x, y \in X$  we consider a two-dimensional Banach subspace  $X_2$  whose elements are  $x$  and  $y$ . The restriction of  $f$  on  $X_2$  we denote by  $f_2$ . Then  $f_2$  is a continuous functional on  $X_2$  and it satisfies (19). Using III we have  $f_2(tz) = \text{cost}a_2(z)$  for every  $t \in R$  and for each  $z \in X_2$ , where  $a_2(z)$  is a continuous and additive functional. On the other hand,  $f_2$  is the restriction of  $f$ . Thus  $\text{cost}a_2(z) = \text{cost}a(z)$ , which implies  $a(z) = \varepsilon a_2(z)$  for all  $z \in X_2$ , where  $\varepsilon$  does not depend on  $z$  and  $\varepsilon = 1$ , or  $\varepsilon = -1$ . Therefore we have  $a(x+y) = \varepsilon a_2(x+y) = \varepsilon a_2(x) + \varepsilon a_2(y) = a(x) + a(y)$ . Since  $x$  and  $y$  are arbitrary vectors of  $X$ , (24) is proved. In such a way theorem 3 is completely proved.

**THEOREM 4.** Let  $M = \{x\}$  be the set of all real square matrices of the order  $n$ , and  $x \rightarrow f(x)$  a complex-valued functional defined on  $M$  and such that:

a) for all  $x, y \in M$

$$(34) \quad f(x+y) + f(x-y) = 2f(x)f(y), \quad f(0) = 1;$$

b)  $f(x)$  is a continuous functional;

c)  $f(s^{-1}xs) = f(x)$  for each  $x \in M$  and for every non-singular matrix  $s \in M$ .

Then  $f(x) = \cos(a \text{Tr} x)$  for all  $x \in M$ , where the complex number  $a$  does not depend on  $x$  and

$$\text{Tr} x = \sum_{k=1}^n x_{kk}$$

is the trace of the matrix  $x$ .

**Proof.** As in theorem 3, we have  $f(tx) = \text{cost}a(x)$  for all  $t \in R$ , where  $a(x)$  is a continuous functional such that

$$a^2(x+y) + a^2(x-y) = 2a^2(x) + 2a^2(y).$$

Since  $f$  is invariant we find  $a^2(s^{-1}xs) = a^2(s)$ , which leads to

$$(35) \quad a^2(x) = a_1 \cdot (\text{Tr} x)^2 + a_2 \cdot \sum_{1 \leq i < j \leq n} \left| \frac{x_{ii} x_{ij}}{x_{ji} x_{jj}} \right|$$

for every  $x \in M$ , where the complex numbers  $a_1$  and  $a_2$  do not depend on  $x$  ([4], theorem 9). Now (35) implies

$$a^2(x \pm y) = a^2(x) + a^2(y) \pm 2a_1 \text{Tr} x \cdot \text{Tr} y \pm b_2 \sum_{1 \leq i < j \leq n} \left\{ \left| \frac{x_{ii} y_{ij}}{x_{ji} y_{jj}} \right| + \left| \frac{y_{ii} x_{ij}}{y_{ji} x_{jj}} \right| \right\},$$

from which in the same way as in theorem 3 we get

$$(36) \quad 2a_1 \cdot \text{Tr} x \cdot \text{Tr} y + a_2 \cdot \sum_{1 \leq i < j \leq n} \left\{ \left| \frac{x_{ii} y_{ij}}{x_{ji} y_{jj}} \right| + \left| \frac{y_{ii} x_{ij}}{y_{ji} x_{jj}} \right| \right\} = \pm 2a(x)a(y).$$

If  $a(y) = 0$  for every  $y \in M$ , then theorem 4 is satisfied with  $a = 0$ . If one can find  $y_0 \in M$  for which  $a(y_0) \neq 0$ , then from (36) after dividing by  $2a(y_0)$  one easily concludes that  $a(x)$  is an additive functional, i. e.  $a(x+y) = a(x) + a(y)$  for all  $x, y \in M$ . Since  $a(x)$  is continuous and  $a(s^{-1}xs) = a(x)$ , we find  $a(x) = a \text{Tr} x$  ([4], theorem 3). Thus  $f(x) = \cos a(x) = \cos(a \text{Tr} x)$  for all  $x \in M$ , q. e. d.

**THEOREM 5.** Let  $X$  be a Banach space, and let  $x \rightarrow f(x)$  and  $x \rightarrow g(x)$  be complex-valued functionals defined on  $X$  and such that

$$(37) \quad f(x+y) + f(x-y) = 2f(x)g(y)$$

holds for all  $x, y \in X$ .

If the functional  $f$  is not identically zero and if it is continuous, then

$$f(x) = a(x) + B, \quad g(x) \equiv 1$$

or

$$f(x) = A \cos a(x) + B \sin a(x), \quad g(x) = \cos a(x)$$

for all  $x \in X$ , where  $A, B$  are constants and  $a(x)$  is a bounded and additive functional on  $X$ .

**Proof.** Since  $f \neq 0$ , there is at least one vector  $x_0 \in X$  such that  $f(x_0) \neq 0$ . From (37) we find

$$g(y) = [f(x_0 + y) + f(x_0 - y)] / 2f(x_0),$$

which implies that the functional  $g$  satisfies all conditions of theorem 3. Thus  $g(x) = \cos a(x)$  for all  $x \in X$ , where  $a(x)$  is a bounded and additive functional. If  $a(x) = 0$  for all  $x$  then (37) reads

$$f(x+y) + f(x-y) = 2f(x),$$

from which one easily finds that  $h(x) = f(x) - f(0)$  is an additive functional. Since it is continuous, we have  $f(x) = f(0) + h(x)$  and  $g(x) \equiv 1$ , i. e. we have the first case of theorem 5. If  $a(x) \not\equiv 0$ , then writing  $f$  as a sum of a symmetrical and an antisymmetrical functionals, in the same way as in theorem 2, we prove the rest of theorem 5.

**THEOREM 6.** *Let  $X$  be a Banach space, and let  $x \rightarrow f(x)$ ,  $x \rightarrow g(x)$  be complex-valued functionals defined on  $X$ , not identically zero and such that*

$$(38) \quad f(x-y) = f(x)g(y) - f(y)g(x)$$

for all  $x, y \in X$ .

If the functional  $f$  is continuous, then

$$a) \quad f(x) = a(x), \quad g(x) = 1 + A \cdot a(x)$$

or

$$b) \quad f(x) = A \sin a(x), \quad g(x) = \cos a(x) + B \sin a(x),$$

where  $A, B$  are constants and  $a(x)$  is a continuous and additive functional on  $X$ .

**Proof.** If we interchange  $x$  and  $y$  in (38) we find  $f(x-y) = -f(y-x)$ , which implies  $f(-x) = -f(x)$  for all  $x \in X$ . Replacing  $-y$  by  $y$  in (38) we get

$$(39) \quad f(x+y) = f(x)g(-y) + f(y)g(x).$$

If we add (38) and (39) we get

$$(40) \quad f(x+y) + f(x-y) = 2f(x)h(y), \quad h(y) = [g(y) + g(-y)]/2.$$

Since  $f$  is a continuous and antisymmetrical functional, theorem 5 and (40) lead to

$$a') \quad h(x) = 1, \quad f(x) = a(x)$$

or

$$b') \quad h(x) = \cos a(x), \quad f(x) = A \sin a(x),$$

where  $a(x)$  is a bounded and additive functional on  $X$  and  $A$  is a constant. In order to find  $g$  we set  $-x, -y$  in (38) instead of  $x, y$  respectively and add the result obtained to (38). We find

$$f(x)[g(y) - g(-y)] = f(y)[g(x) - g(-x)].$$

Thus

$$(41) \quad g(x) + g(-x) = 2h(x) \quad \text{and} \quad g(x) - g(-x) = 2cf(x)$$

with some constant  $c$ . Now  $a')$ ,  $b')$  and (41) imply theorem 6.

**THEOREM 7.** *Let  $X$  be a Banach space, and let  $x \rightarrow f(x)$  and  $x \rightarrow g(x)$  be complex-valued functionals defined on  $X$  and such that*

$$(42) \quad f(x-y) = f(x)f(y) + g(x)g(y)$$

for all  $x, y \in X$ .

If  $f$  and  $g$  are not constants and if  $f$  is a continuous functional, then

$$f(x) = \cos a(x) \quad \text{and} \quad g(x) = \sin a(x)$$

for all  $x \in X$ , where  $a(x)$  is an additive and bounded functional on  $X$ .

**Proof.** Obviously

$$(43) \quad f(-x) = f(x).$$

Setting  $-x$  and  $-y$  in (42) instead of  $x$  and  $y$  respectively and using (43) we find

$$g(x)g(y) = g(-x)g(-y),$$

from which follows  $g(-x) = g(x)$  for all  $x$  or  $g(-x) = -g(x)$ . The first possibility leads to the conclusion that  $f$  and  $g$  are constants. Since this trivial case is excluded by the conditions of theorem 7, we have  $g(-x) = -g(x)$ . Replacing  $-y$  by  $y$  in (42) and adding the result obtained to (42) we find that  $f$  satisfies all the conditions of theorem 3. Thus

$$(44) \quad f(x) = \cos a(x),$$

where  $a(x)$  is a bounded and additive functional on  $X$ . Setting (44) in (42) we get  $g(x) = \sin a(x)$  for all  $x \in X$  or  $g(x) = \sin(-a(x))$  for all  $x \in X$ , q. e. d.

**Remark 1.** Functional equation (42) has been considered by H. V. Vaughan [8] in a completely different way, under the assumption that  $f$  and  $g$  are real-valued functions of a real variable  $x$  and that  $\lim [g(x)/x] = 1$ , as  $x \rightarrow 0^+$ .

**Remark 2.** If  $X$  is the set of all real numbers, then in theorem 3 continuity may be replaced by measurability in the sense of Lebesgue (theorem 1). This implies that in theorems 5, 6 and 7 continuity can be replaced by measurability. Obviously in this case  $a(x) = ax$ , where  $a$  is a complex number.

**Remark 3.** Theorems 5, 6 and 7 can be suitably generalized to the corresponding invariant functionals, which are defined on the set  $M$  of matrices introduced in theorem 4. In this case  $a(x) = a \cdot \text{Tr} x$  with some complex constant  $a$ .

**Remark 4.** In some real Banach spaces the general form of an additive and continuous functional is well known ([9], p. 137-142). Thus for those spaces theorems 3, 5, 6 and 7 give the general form of the functionals treated there.

## References

- [1] A. Cauchy, *Oeuvres complètes* (2), 3, pp. 98-113, 220-229.  
 [2] N. Dunford and J. Schwartz, *Linear operators*, Part I: General theory, 1958.  
 [3] S. Kaczmarz, *Sur l'équation fonctionnelle*  $f(x) + f(x+y) = \varphi(y)f(x+y/2)$ , *Fund. Math.* 6 (1924), p. 122-129.  
 [4] S. Kurepa, *Functional equations for invariants of matrices*, *Glasnik mat. fiz. i astr.* 14 (1959), p. 97-113.  
 [5] — *On the quadratic functional*, *Publ. Inst. Math. Acad. Serbo* 13 (1959), p. 57-72.  
 [6] — *A cosine functional equation in Hilbert space*, *Can. J. Math.* 12 (1960), p. 45-50.  
 [7] — *A cosine functional equation in  $n$ -dimensional vector space*, *Glasnik mat. fiz. i astr.* 13 (1959), p. 169-189.  
 [8] H. Y. Vaughan, *Characterisation of Sine and Cosine*, *Am. Math. Monthly* 62 (1955), p. 707-713.  
 [9] A. C. Zaanen, *Linear analysis*, 1953.

INSTITUTE FOR APPLIED MATHEMATICS  
 ZAGREB, YUGOSLAVIA

Reçu par la Rédaction le 4. 7. 1959

## Convex sets invariant under group representations

by

R. E. EDWARDS (Reading)

**§ 1. Introduction and summary.** An earlier paper [1] began a study of convex sets invariant under translation in certain spaces of functions built over a group, the main emphasis resting on the question of separation of such sets. Here the setting is generalized and an attempt made to discuss the structure of convex sets in a topological vector space  $E$  which are invariant under a given representation  $s \rightarrow A_s$  of the group  $G$  by endomorphisms of  $E$ . (Most of our results are easily modified to deal with invariant disks rather than convex sets, a disk meaning a closed, convex and circled set in  $E$ : such sets were termed mean-invariant in [2]).

The group  $G$  is assumed to be locally compact and abelian; it is additively written. Elements of the dual  $\hat{G}$  of  $G$  are denoted by  $\zeta, \chi, \dots$ . Haar measures on  $G$  and  $\hat{G}$  are adjusted so that the Fourier inversion formula holds without external numerical factors. The Fourier transform of a function  $f$  on  $G$  is denoted by  $\hat{f}(\zeta) = \int_G f(s) \overline{\zeta(s)} ds$ .

The representation space  $E$  is assumed to be separated locally convex. Elements of  $E$  are denoted by  $x, y, \dots$ , and those of the topological dual  $E'$  by  $x', y', \dots$ ; the bilinear form defining the duality is written  $\langle x, x' \rangle$ .

Each endomorphism  $A_s$  is assumed to be continuous, and the representation is to be bounded and continuous; this entails that  $s \rightarrow \langle A_s x, x' \rangle \equiv \varphi_{x, x'}(s)$  is a bounded and continuous function on  $G$  for each fixed  $(x, x') \in E \times E'$ . Certain other restrictions on  $E$  will be imposed later (see § 2).

The analysis of closed, convex sets invariant under the given representation is attempted in terms of the concept of spectrum applied to elements of  $E$ . This concept is defined in § 3, and Theorem 1 characterizes the spectrum of  $x$  in terms of the familiar  $L^\infty$ -spectra (according to Beurling and Godement) of the associated functions  $\varphi_{x, x'}$ . The main result is Theorem 2: this contains the essence in abstract form of summability